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Question Number : 1 Question Id : 70819121904 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A radioactive sample is undergoing o decay. At any time L, its activity is A and another

time t,, the activity is TX What is the average life time for the sample ?

Options :
In5
t‘) 1'.1
70819170861. ~
In(ty, + t;)
70819170862. 2
.tz £

70819170863, In5

70819170864.

Question Number : 1 Question Id : 70819121904 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



feq Sfs@maies aHaT o - H (decay) T »ils J1 faH RN t, 83, feret AfgmET A U ni3 »&dl AN t,
& foret o 2 31 53 © iR gt 37

J

Options :
In5

t ty
70819170861.

In(t; + ;)
70819170862. 2

.tz £

70819170863, In5

70819170864.

Question Number : 2 Question Id : 70819121905 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A : For a simple microscope, the angular size of the object equals the angular size
of the image.

Reason R : Magnification is achieved as the small object can be kept much closer to the eye
than 25 cm and hence it subtends a large angle.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

20819170865. Both A and R are true and R is the correct explanation of A

70819170866. Both A and R are true but R is NOT the correct explanatinn of A

70819170867. A is true but R is false



70819170868, M 1 false but Riis true

Question Number : 2 Question Id : 70819121905 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
J& ¥ qEs 375 : fea 3 s ABIB a3 I3 g 3 TIS RBTB fazr |
o868 A: o3 Ao guiedHt &g a9 & daf wag ySt fHe © da wiae © S0 3T
JI
dUE R: =SSTOAT" (magnification) ﬁmaﬁaﬁﬁﬁsﬁw%ﬁcm%ﬁﬂﬁwwm
I W3 a3 3 & aE wE J
Budas o © AdT feg, A3 3 Adt B39 < 9F JoB o = a9
Options:

70819170865, = A3 R Adt 36 mZ R, A T Adt 799 J|

20819170866, =° A PE R Fdl 35 U9 R, A & AJl 7emd 54t T

20819170867, A Fdl I U9 R a3 T

20819170868, A 33 T UT R AT I

Question Number : 3 Question Id : 70819121906 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tuning fork A of unknown frequency produces 5 beats/s with a fork of known frequency
340 Hz, When fork A is filed, the beat frequency decreases to 2 beats/s. What is the frequency
of fork A ?

Options :

70819170869, -2 11z



70819170870, -8 Hz

70819170871, 242 Hz

47
70819170872, -2 Hz

Question Number : 3 Question Id : 70819121906 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fea fim dst/aer A famet nifest wifami™3 T i3 5 beats/s Ier awet T 7 340 Hz. mifest @wt
dsi/dieT T A% | 7T asi/dieT A 3 SEMI/FET FET J, I Mgt 2 beats/s e @l J @i
St A & wifist ot 39

Options :

70819170869, -2 11z

70819170870, 238 Hz

70819170871, >4° Hz

)
70819170872, -2 HZ

Question Number : 4 Question Id : 70819121907 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Draw the output signal Y in the given combination of gates.

A : —t
O[T 2 34 5t Ae— ]
X
B : Be
0] 1 2 3 4 5 s

Options :

o 1 2 3 4 5 s
70819170873.

of 1 2 3 4 5 s
70819170874.

ol 1 2 3 4 5 ts)
70819170875.

of 1 2 3 4 5 ts)
70819170876.

Question Number : 4 Question Id : 70819121907 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



23 OF ©9 o 13 7= die’ ®Er US a3t migeue Y froms 598

A } —
of 1 2 3 4 5 ts) Ae— |
Y
B : Be
of 1 2 3 4 5 ts)
Options :
of 1 2 3 4 5 ts)
70819170873.
of 1 2 3 4 5 i)
70819170874.
ol 1 2 3 4 5 ¢ts
70819170875.
0] 1 2 3 4 5 ts)
70819170876.

Question Number : 5 Question Id : 70819121908 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 ’ A second’s pendulum has a time period of 1 second.
Statement II [t takes precisely one second to move between the two extreme
positions.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :

20819170877, Both Statement I and Statement 11 are true

70819170878. Both Statement I and Statement 11 are false

70819170879. Statement | is true but Statement Il is false

70819170880. Statement 1 is [alse but Statement 11 is true

Question Number : 5 Question Id : 70819121908 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

J&" e aus i3T5

ags | : & Afds T UseH & wieasas fEa Afds @ 1
ags 1l : ¥ 2 faarg € Aar 3 udes &8t At v3T 99 g Afds 9 & 31
Budes gae © FuU feu, Ag S da< B39 Tt 9= a9

Options :

20819170877, =0 F80 1 mi3 @5 1 A 35

70819170878, = oemeiG Y pitis T8 Mt sley

20819170879, &0 1 AST T ug aEs 11 a&3 I

70819170880. . S Epe e sl



Question Number : 6 Question Id : 70819121909 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If°C" and “V’ represent capacity and voltage respectively then what are the dimensions of A
where C/V=A7?

Options:

[—27 -312T6
70819170881.[M o

] 3 413 7
70819170882, M "L " I°T']

1-21L.-413T7
70819170883. LT i

[-11-31-2T-7
70819170884. Lol i i 4

Question Number : 6 Question Id : 70819121909 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

nad 'C w3 'V gHTT T9a3T W3 Wer TIOAET 96 G A T fo of 9=t 7eg C/V = A T
Options:

=27 =312 76
70819170881.[M e

] 3 413 77
70819170882, M "L " T]

1-21.-413 77
70819170883. TR

g—1 3 2 7]
70819170884. T



Question Number : 7 Question Id : 70819121910 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An aeroplane, with its wings spread 10 m, is flying at a speed of 180 km/h in a horizontal
direction. The total intensity of earth’s field at that part is 2.5x 10 4 Wb/m? and the angle
of dip is 60°. The emf induced between the tips of the plane wings will be

Options :

70819170885, 108.25 mV

62.50 mV
70819170886.

70819170887. 88.37 mV

F 2 T
70819170888, ~ 1122 m\

Question Number : 7 Question Id : 70819121910 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fex Tereiwo, e 98 10 m, 3% 73, 180km/h & 7% &% fish few fe@ €8 foor 91 GR el
fuest © fammet 439 ©f 3tagsT wegr 25x 10~ Wb/ m? T »8 wez o (angle of dip) 60° € J1
70 € gt T fomaht femarg Ufes 9e & oy wie Tt |

Options:

70819170885, 108-25 mV

62.50 mV
70819170886.

70819170887. 88.37 mV

; . T
70819170888, ° 1122 m\



Question Number : 8 Question Id : 70819121911 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A cord 1s wound round the circumference of wheel of radius r. The axis of the wheel is
horizontal and the moment of inertia about it is . A weight mg is attached to the cord at the
end. The weight falls from rest. After falling through a distance 'h’, the square of angular
velocity of wheel will be :

Options :
Egh
70819170889.
2¢h
| 2
70819170890, ' ' mr
- 2mgh
I+ mr‘2
70819170891.
2mgh
2
70819170892, & ' M1

Question Number : 8 Question Id : 70819121911 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fea 3793 r wau fom T8 ufee 2t 9o 52t 3 Sliont Jer 31 ufoe & oo fistA U s A3 Hire

fer g0 171 39 € wit &8 mg 39 A= famr 31 99 fea Afest 3 fomer B9 aoer d1

'h' Tt 3 95 3 gmie ufow T qEt 29 T I9d dear

Options :

2511
70819170889.

2oh
[

E
70819170890, |1 mr



2mgh

-
70819170891, .+ mu
2mgh
v
70819170892, |+ T =m

Question Number : 9 Question Id : 70819121912 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The trajectory of a projectile in a vertical plane is y=ox— px? where a and B are constants
and x & y are respectively the horizontal and vertical distances of the projectile from the
point of projection. The angle of projection 8 and the maximum height attained H are
respectively given by :

Options :
z
o
tan 1[_%, ey
20
70819170893.
.l( ; ) 2
tan 1|E fudl
al P
70819170894.
f.'l'.z
tan lt'l'.,, E
70819170895,
'—1:['!'.2
tan l(.'l'.,.
70819170896. B

Question Number : 9 Question Id : 70819121912 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fea yua & oeed (YEua UE) vFem 35 89 y=ax— P22 3, 8 o n3 B 1B vid 96 i3
x M3 y HEN Hear/yad e 3y © st w3 uem T 351 YEUR OF 0w witesH
yn3 a3t §et H, gyers deat

Options :
A
0
tan l[:’.r 2—
70819170893, P
tan 1(&& o
-_CE/' B
70819170894,
2
o
tan lu, a8
70819170895.
40:2
Ltan lct,
70819170896. B

Question Number : 10 Question Id : 70819121913 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two masses A and B, each of mass M are fixed together by a massless spring. A force acts on
the mass Bas shown in figure. If the mass A starts moving away from mass B with acceleration
‘a’, then the acceleration of mass B will be :

<« @——TOB0I0E—0
F B A

Options :

MF

F + Ma
70819170897.

F+ Ma
70819170898. M



‘Ma —F

70819170899.

'F — Ma
M

70819170900.

Question Number : 10 Question Id : 70819121913 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
T 99 A3 B fEa Ans 919 M 9, § Ead 99913 oWzl &% A 9% 95 | 99 B §3 939 fem faure

T WEHT 5 B3l 907 I WaW FI A 'd YRAIFB 99 B3I T AT BY a9, § ¢ F9 B T U=a
dedl'.

—— T —@
F B A
Options :
~ MF
+ Ma
70819170897.
F 4+ Ma

70819170898. M

‘Ma —F

70819170899.

F — Ma
M

70819170900.

Question Number : 11 Question Id : 70819121914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : An electric dipole is placed at the centre of a hollow sphere. The flux
of electric field through the sphere is zero but the electric field is not
zero anywhere in the sphere.

Statement 11 If R is the radius of a solid metallic sphere and Q be the total charge
on it. The electric field at any point on the spherical surface of radius
r (<R)is zerobut the electric flux passing through this closed spherical
surface of radius r is not zero.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :

20819170901. Both Statement 1 and Statement 11 are true

70819170902. Both Statement | and Statement Il are false

70819170903, Statement 1 is true but Statement 1l is false

20819170904. Statement | is false but Statement 1l is true

Question Number : 11 Question Id : 70819121914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& e Es fd3 75 :

ags | : ¥ fammel € uaat (dipole) & Wa® W € o'eq f<g dftmr famr 31 I8 2w et
3T T SBaH W9 J U9 9 <9 fan & e faneet 539 w9 adt 9|

g6 1l: Hag SH U3 a® T mad fawm R I 03 Q fer €3 9% 999 J r (< R) nigufenmr 2%
Iwas A7 © far foT 3 fameet 439 w9 U U9 r neu fonmm 79, &8 wae A e
T foor farmet edan A9 adt 7

Buda3 wEeT T AEU o9, AF 3 3= B39 & 9T, Jo6 o <Y o :

Options:

20819170901, =0 86 1 w3 &&s 11 At 96

20819170902, =0 oao 1 »iS oEs 1 93 96



20819170903, 59 1 AdT T U9 &5 11 3w3 J

20819170904, F90 1 @3 I ug &5 1L AT I

Question Number : 12 Question Id : 70819121915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A scooter accelerates from rest for time t; at constant rate a; and then retards at constant

rate a, for ime t, and comes to rest. The correct value of t—l will be :
& 2 2

Options :

70819170905.

70819170906.

.i-.’il { do
a]
70819170907.

aq |i:"'12

70819170908.

Question Number : 12 Question Id : 70819121915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fea Fged feaM Afast 3 1 AN 3 WES/AHG U=d & €9 a, & 3B J M3 HEs (relard) B a,

. = e o e i e
ATH® Y=d 29 &1 L, RN feg feaw Afest feg or 7 91 L & mft fimitnis S

t

Options :

2

dz
70819170905.

dz

d
70819170906.

.i-.’il f 3.2

]

70819170907.

.Ell | 3.2

70819170908, 2

Question Number : 13 Question Id : 70819121916 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The internal energy (U), pressure (P) and volume (V) of an ideal gas are related as U=3PV +4.
The gas is :

Options :

monoatomic only.
708191709009. :

70819170910, diatomic only.

70819170911 polyatomic only.

peither monoatomic or diatomic.
70819170912.



Question Number : 13 Question Id : 70819121916 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fea nregr 3 = wiegal 89 (U), =8 (P) i3 nifess (V) T Aau 06 U=3PV+4, IR J:
Options:

70819170909, EXITHE

70819170910, TH9H'E THIS

70819170911, T9 WoHES fAge

70819170912, [ZXHIHE ' EUTHE

Question Number : 14 Question Id : 70819121917 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The recoil sp eed of a h}-‘drogon atom after it emils a photon in going fromn=>5state ton=1
state will be :

Options :

70819170913, 134 m/s

70819170914, +17 m/s

3.25 m/s
70819170915.

219 m/s
70819170916.



Question Number : 14 Question Id : 70819121917 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
TEISIHG UGHTE T HIYWST a51/8% (recoil speed) T 26 25 3 HME WEAE n=5 3 nERE
n=1 3 J=4i:
Options:

70819170913, 34 m/s

70819170914, +17 m/s

3.25 m/s
70819170915.

219 m/s
70819170916.

Question Number : 15 Question Id : 70819121918 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The length of metallic wire is I, when tension in it is T,. Itis [, when the tension is T,. The
original length of the wire will be :

Options :
L+ Iy
70819170917. 2
Toly + Tyby
T, + T,
70819170918. -
Tyl - Tl
I, = Ty

70819170919.



Th - Tl

T, — Ty
70819170920,  °©

Question Number : 15 Question Id : 70819121918 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
e a3 39 < St 1, 3 7€ fom 9o 3@mi (o) T, 91 32w fife T, Je3 feo Bardt 1, 31 s &t

Options:
Lo+ 1
70819170917. 2
[ o W 3
ARG
70819170918. &
e
T"J T].
708191709109. §
Th - Tl
=
70819170920. 2

Question Number : 16 Question Id : 70819121919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle executes S.H.M., the graph of velocity as a function of displacement is :
Options :

a circle.
70819170921.



a parabola.
70819170922.

70819170923, a0 ellipse.

a helix.
70819170924,

Question Number : 16 Question Id : 70819121919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fa s e E ey I oo o sss T U T awe
Options :

70819170921, 12 999

70819170922, (=% UTED

70819170923, =% 5T (ellipse)

fea 91T (helix)
70819170924. )

Question Number : 17 Question Id : 70819121920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The incident ray, reflected ray and the outward drawn normal are denoted by the unit
I—) l—) l—) 2 = o
vectors @, b and ¢ respectively. Then choose the correct relation for these vectors.
Options :
— =3
a—c

70819170925, P~



\
— | —

b=a-2 {£¥- c/c

70819170926,
b=at2c
70819170927
b=2a+tc
70819170928,

Question Number : 17 Question Id : 70819121920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—

- -, n - n -, — e
St fods, ugees! faes ni3 Traen ®Y 92t 3 oAl AlcR T U R peT a, b »¥ ¢ 7®
TarEmt wvet | fewat Afer T ®€t Rt AYU 92|

Options:

70819170925.

70819170926.

70819170927.

70819170928.

Question Number : 18 Question Id : 70819121921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the peak current and resonant frequency of the following circuit (as shown in figure).

Armnmm—”—

100mH 400 uF

() V =30 sin 100t

120 )
Options :

g
70819170929, - “*and 50 Hz

70819170930, -2 A and 50 Hz

70819170931, 2 4 and 100 Hz

'j- :
70819170932, -2 A and 100 Hz

Question Number : 18 Question Id : 70819121921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TOAE % Adae (fie 937 feu feudhnm) w2t 8oy (fidg) ade w3 nimaret wifest &9 |

||
—————— TS

[
100 mH 100 uF

() V =30 sin 100t

1200
Options :
2 An3 50 Hz
70819170929.

70819170930, V-2 A 1= 50 Hz



70819170931, = 4 7= 100 Hz

70819170932. 0.2 Am3 100 Hz

Question Number : 19 Question Id : 70819121922 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Aninclined plane making an angle of 30° with the horizontal is placed in a uniform horizontal

electric field 200 % as shown in the figure. A body of mass 1 kg and charge 5 mC is allowed

to slide down from rest at a height of 1 m. If the coefficient of friction is 0.2, find the time
taken by the body to reach the bottom.

[B=9.8 m,/sz; sin 30°=

—
E=200N/C

Options :

70819170933.

70819170934, 138

g
70819170935, 092 S

70819170936, 020'S

Question Number : 19 Question Id : 70819121922 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
fea T8 38 fufsw &% 30° = de sevee 9 f2a A fufsw fameet B39 200 %&Hﬁfﬂwh fea

=g e 39 1 fa® w3 9w 5 mC T3 1 m & §FE! 3 wieled nemg 3 €8 furae & nigkst T
Haq 9 g 0.2 I, 5813l UJgSE SEt I3 & (oot AW Baer | (Ruifmr € fer Ao o fo39 68
feymetnr )

[=9.8 m/s% sin3("= %; cos3(0° = ?]

e —
E=200N/C

Options :

70819170933.

70819170934, 138

2
70819170935, 0-92S

70819170936, 08

Question Number : 20 Question Id : 70819121923 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A wire of 1 () has a length of 1 m. It is stretched till its length increases by 25%. The
percentage change in resistance to the nearest i_ntr_-gr_-r 15 :

Options :

o
70819170937, “° 7%



»
70819170938, 0%

5%

"
70819170939. ~

2.5%
70819170940, 127

Question Number : 20 Question Id : 70819121923 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

feg 1 Q @@ I9 et sae ImJ1 ferp §€ 3a fgh (sufenr) wer § w% 39 femer st 25%
sue 91 ferer ySies eew6 fore A9 3 336 Y96 wia 5 foer Jear|

Options :
s
70819170937, /07
o
70819170938, 0%
259
70819170939, 2>
7 59
70819170940, 127
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Section Id : 7081911001
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Number of Questions : 10

Number of Questions to be attempted : 5
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819121924 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The zener diode has a V,=30 V. The current passing through the diode for the following
circuitis = mA.

4k
A

'
~]
il

o

o

90 V™5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819121924 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



w59 STEEs & V,=30 VI foHolous rose st st dufoorade  mA T

4k

g
~)
La

A

&

90 V™

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819121925 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

: 5
Time period of a simple pendulum is T. The time taken to complete g oscillations starting

] o S - 3
from mean position is —T. Thevalueofais .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819121925 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



o =% I —~l5—~ s o o =
fex Froras UesH T wiegsa® T J1 Hcrﬁfaah'gmgﬁwmaﬁ g T. A B 31 A

ctEW_—TE%I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819121926 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The volume V of a given mass of monoatomic gas changes with temperature T according to
' 2

the relation V=KT?. The workdone when temperature changes by 90 K will be xR. The

valueof xis

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819121926 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
TUs T 3 fed ufawz Im & fest et wesT v g, v = KT3 , 35 ¥ nighd 5% At 31 90K
IUNTE TOBE & Ai3T oot agd xR Jea T T HE 3=

(R=Hdfnmd dIH Jd TS nd)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819121927 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two stream of photons, possessing energies equal to twice and ten times the work function
of metal are incident on the metal surface successively. The value of ratio of maximum
velocities of the photoelectrons emitted in the two respective cases is x : y. The value of
L S

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819121927 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T 3¢6 et U9 ey o € g #iS ©F 3, U3 © 3on %6 &8 gonT J, U3 3%/M 3 e 3
g fod gH &% Zaagem 76 | Eaf gHeTd fol fog 23 fedaes & EEa S e mBUs T 05 7
X:y XTHE 7l

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819121928 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the highest frequency modulating a carrier is 5 kHz, then the number of AM broadcast
slations accommodated in a 90 kHz bandwidthare .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819121928 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

HaT O3 nifssT ° 99 3 Hgwe auel J 5 kHz 3, 8¢ AM FeW Acrs/ded 90 kHz ¥ 93
fodapae o, dtatest _ d

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819121929 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In the reported figure of earth, the value of acceleration due to gravity is same at point
A and C but it is smaller than that of its value at point B (surface of the earth). The value of
OA: AB will be x : y. The value of x is

Earth

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819121929 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

fuest @ Tone/feure 039 nigAs, 7937 y=a1 A fie »@ C fig 83 e s 9, ua fie B (fugst <t
A3}) 83 4% o8 We/eer J1 OA:AB T HB® Rar x:y I x THS J=ar |

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819121930 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
0

1 mole of rigid diatomic gas performs a work of — when heat Q is supplied to it. The molar
g

i ’ i . g A
heat capacity of the gas during this transformation is ? Thevalueofxis .

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819121930 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

; : 3 55 ) e ik s g o : o
Afes TUaWE dF T B 18 — ar9d der J Ae Q I feR 3 i3 AT | W ¥ o quisaE Ay
: - G S

- . R i
feret o 3V U9z AR T g PR e )
(R=Fafenya 3 1T e s nla)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819121931 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A point source of light 5, placed at a distance 60 cm infront of the centre of a plane mirror of
width 50 cm, hangs vertically on a wall. A man walks infront of the mirror along a line
parallel to the mirror at a distance 1.2 m from it (see in the figure). The distance between the
extreme points where he can see the image of the light source in the mirror is _ M.

5
50 cm -

60 cm

—I12m—
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819121931 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



fea Irat fdE 735 8 60 cm T4 3, 50 cm TFET T AH3S TIUE T A'T9 3 TO I T I, TR
yFEm B9 3 ed 97 J 1 fER wient (Hg) T9UE € 1, 1.2 m B9 AHGST o (99 98 10 T
(fre fo37 feg feurehor ) it =% it € 2qt g Ga Jrol A93 & yFiiHe & Faer 9= & gt J

CIm.

S
50 cm ) =

60 cm

e

1.2m

o
L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819121932 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle executes 5.H.M. with amplitude ‘a’ and time period ‘T". The displacement of the

particle when its speed is half of maximum speed is ¥*2, The value of xis __
2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819121932 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
55 33 '3 Wy &% »3 'T' BN =0 A9s wiegs it fewBer U1 33 < femauss 7% foret oot
G TR Iy Y25 v eim

7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819121933 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

27 similar drops of mercury are maintained at 10 V each. All these spherical drops combine
into a single big drop. The potential energy of the bigger dropis _____ times that of a
smaller drop.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819121933 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

urg fomf 27 fea AH® Ardhor g8t 10 V 3 s2el/aety it 361 fesat Araher 9% ge7 6 feaor a9
fog &5t fe seel et §| ST g S Afafsm Qo R Ed wete g deal

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Chemistry Section A
Section Id : 7081911002
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911282
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819121934 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11
(Molecule) (Bond order)
(a) Ne, i 1
®) N, (i) 2
(@ F, (i) 0
d 0O, iv) 3

Choose the correct answer from the options given below :



Options :
70819170951 (a) — (1), (b) — (ii), (c) — (iii), (d) — (iv)

70819170952, (@) — (), (b) — (iii), (c) — (ii), (d) — (i)

20819170953, (@) = (ii), (b) — (i), (¢) — (iv), (d) — (iii)

20819170954, (@ — (iii), (b) — (iv), (¢) — (i), (d) — (ii)

Question Number : 31 Question Id : 70819121934 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
get -1 nS gof - Il T fiee a9

Bl -1 gat - 11
MZ (Molecule) 505 g4 (Bond order)
(a) I\]r:-2 (1) 1
(b) N, () 2
() F, (i) O
d) O (v) 3
J5 23 feamut 8 Adt @39 € g7 a9
Options:

70819170951 (a) — (1), (b) — (i), (c) — (iii), (d) — (iv)

70819170952, (@) — (W), (b) — (iii), (c) — (i), (d) — (i)

70819170953, () = (i), (b) = (i), (¢) = (iv), (d) — (iii)

20819170954, (@ — (i), (b) — (iv), (¢) — (i), (d) — (ii)

Question Number : 32 Question Id : 70819121935 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The nature of charge on resulfing colloidal partides when Fe«[’[3 is added to excess of hot
water 15 :

Options :

70819170955, Posttive

70819170956, Nesative

70819170957, heutral

70819170958. sometimes pOSIT.I‘JD and sometimes I'IDBE!.L'[TJC'

Question Number : 32 Question Id : 70819121935 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
FeCl,3 = an w2 i & fonre 13 o s o i, orfess ot 63 Tige orom mem
Options :

70819170955, 0 =H (positive)

70819170956, '°C oHe (negative)

70819170957, (09 (neutral)

70819170958. ot ot UATSHA M3 H?EET%E'EHHEIETUI

Question Number : 33 Question Id : 70819121936 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The correct order of electron gain enthalpy is :
Options :

70819170959, O >5>5e>Te

70819170960, 1€ >5¢>5>0

70819170961, >~ O >Se >Te

70819170962, > > 5> Te>0

Question Number : 33 Question Id : 70819121936 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
fedcles oz wesmt e /it gy I

Options :

70819170959, O =>5=>5e>Te

70819170960, 1€ >5e>5>0

70819170961, >~ O >Se >Te

70819170962, °>5e>Te>0

Question Number : 34 Question Id : 70819121937 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-I1

List-1 List-11
(a) Siderite 1R
(b) Calamine (i) Ca
(c) Malachite (iii) Fe
(d) Cryolite (iv) Al
v) Zn

Choose the correct answer from the options given below :
Options :
70819170963, () = (1), (b) — (ii), () — (v), (d) — (i)

70819170964, (@ — (i), (b) — (v), (c) — (i), (d) — (iv)

70819170966, (a) — (iii), (b) — (i), (c) = (v), (d) — (i)

Question Number : 34 Question Id : 70819121937 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt - 1 & fies get - 1 &% av
gl -1 gat - 11
(a) AEETEE (Siderite) I Cu
(b) o@HEE (Calamine) (i
(c) ¥@aEtz (Malachite) (iii) Fe
(
(

11

@]
o

(d) @IEEEEle (Cryolite) iv) Al
v)] Zn
J6 fo3 feamut <5 Adt €39 € 92 a9 :
Options:

70819170963, (@) = (i), (b) = (i), (c) — (v), (d) — (iii)

70819170964 (@) — (i), (b) — (v}, (¢) — (i), (d) — (iv)



70819170966, (a) — (iii), (b) — (i), (c) = (v), (d) — (i)

Question Number : 35 Question Id : 70819121938 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following forms of hydrogen emits low energy 3~ particles ?
Options :
70819170967, Proton H

Protium %H
70819170968.

Deuterium 2H
70819170969. 1

Tritium TH
70819170970.

Question Number : 35 Question Id : 70819121938 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

J6 THM TElSORs et UEd o fagat ydg Wi B9 I g (particles) 5T A feeT 97
Options:

ues HY
70819170967.

70819170968.

70819170969. -



ddmr 3H

70819170970.

Question Number : 36 Question Id : 70819121939 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11
(a) Sodium Carbonate (i Deacon
(b) Titanium (i) Castmer-Kellner
(c) Chlorine (i) wvan-Arkel
(d) Sodium hydroxide (iv) Solvay
Choose the correct answer from the options given below :
Options :
70819170971, (@) — (iv), (b) — (iii), (c) — (1), (d) — (ii)
70819170972, (a) — (iv), (b) — (i), (c) — (ii), (d) — (iii)
20819170973, (@) = (1), (b) — (iii), (c) — (iv), (d) — (ii)

70819170974, (@) — (iii), (b) — (ii), (c) — (i), (d) = (iv)

Question Number : 36 Question Id : 70819121939 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



get - 1 & fie= ger - 1% a9

gt - 1 get - 11
(a) FStmy T9gse i S
(b) TECAMH (ii) TACHI-ABAT
(c) oSdts (i) = nroEm
(d) Ay TElgEREE (iv) B
J6 &5 feamut ©° AT €39 83 -
Options :

20819170971, @) = (iv), (b) — (i), (c) — (), (d) — (i)

20819170972, @) = (), (b) = (i), (¢) — (ii), (d) — (i)

Z0g19170073. @ = @), (b) = (iid), () = (iv), (d) — (i)

20819170974, (@) — (iii), (b) — (i), (c) — (i), (d) — (iv)

Question Number : 37 Question Id : 70819121940 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which pair of oxides is acidic in nature ?

Options :

70819170975, 0203 5102

70819170976, 203 G20

N-O, BaO
70819170977. <

70819170978, 20, Si0;



Question Number : 37 Question Id : 70819121940 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WaAEs = faor A3 gg™f 9 39 97
Options :

70819170975, £20% 5102

70819170976, 2203 <20

N-,O, BaO
70819170977. =

70819170978, 30, 510,

Question Number : 38 Question Id : 70819121941 Question Type : MCQ Option Shuffling
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : In TlI5, isomorphous to Csl, the metal is present in +1 oxidation
state.
Reason R : T1 metal has fourteen f electrons in its electronic configuration.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819170979, Both A and R are correct and R is the correct explanation of A
20819170980, Both A and R are correct but R is NOT the correct explanation of A

70819170981. A is correct but R is not correct

70819170982. A is not correct but R is correct

Yes

:Yes



Question Number : 38 Question Id : 70819121941 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

J6t € aEs T3 T 1 A fonfos a8 I w3 R o798 986 J1

fonfos @88 A TIIEWH%{'CF}I3 MY (isomorphous) »3 2R 88 T3 = wiaHidas neAE +1 J1

96 ags R:  TIT3 & feiacisa 39319 f59 14 f-fedags & |
Gudes oEn o o {29, Io 3 fRamuf feg Ae3” wo= €39 & S aq|

Options :

o fopfas 988 A »iS 996 9896 R At 36 w3 J96 986 R GRS a8 A & 5t fonrfunr
70819170979, I
o< [oHfo3 qE5 A 2 385 R At 95 Ud3 995 96 R, foAfoz a8 A € Rdt fenrfr adt
70819170980 J!

70819170981.%Hﬁ3' qE5 A AP J US3 F96 a86 R A &4 J1

20819170982, [OHITS 86 A Al &t T U3 996 @6 R At T

Question Number : 39 Question Id : 70819121942 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calgon is used for water treatment. Which of the following statement is NOT true about
Calgon ?

Options :

20819170983, Calgon contains the 2"d most abundant element by weight in the Earth’s crust.

20819170984. It is pnl}-'tmric cr}mpf}und and is water soluble.

70819170985. It is also known as Graham's salt.



a (T2t i - s ag oa
20819170986. It doesnot remove Ca=" ion by precipitation.

Question Number : 39 Question Id : 70819121942 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

et 2 Zieie Bt 7 Ul § st 337 8 J0tE BT ofde © QU a3 AT J | oide 819 96

o5 ot feg o s Fdt &dt 91

Options :

o €9 MivdT 33 Kge Je J, 7 0931 © &9 (earth crust) 6T U2 7E ¥ HF 3 20 33

70819170983, © 29 MOAT TH 589 63 T

20819170984, 129 € I8 Wi I »iF wat 99w Hrer J1

20819170985, [EH2 ‘dTH T BT & & e #er I

fens Ca®t & 3®act (precipitation) T »&dl &dt 13T 77 Ao |
70819170986. B

Question Number : 40 Question Id : 70819121943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ceric ammonium nitrate and CHCl,/ale. KOH are used for the identification of functional
groups present in _and __ respectively.

Options :

70819170987, alcohol, amine

70819170988, amine, alcohol

70819170989 alcohol, phenol



70819170990 amine, phenol

Question Number : 40 Question Id : 70819121943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HIfaal mHamH &Ec (Ceric ammonium nitrate) »3 CHCL,/alc. KOH & Sutial gHerg
WS AYT T Rdee ©F UETE Bl alF A J

Options :
70819170987, %I 5

70819170988. :

70819170989. .

70819170990, "I &5 <t

Question Number : 41 Question Id : 70819121944 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 2 3 4
In CH, =C=CH - CH; molecule, the hybridization of carbon 1, 2, 3 and 4 respectively,

are :
Options :

SO, S
70819170991, 7 P P

3 g g
70819170992, P » 5P» 5P 5P



g gl 3
70819170993, F 7 5P~ 5P

sp2, s, sp2, spo
70819170994, Pe e

Question Number : 41 Question Id : 70819121944 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 5 3 1 _ y ” - »
CH, =C=CH - CH, Gfoa 3 aags 1, 2, 3 »3 4 T Adds gHad J|
Options :

SO, S
70819170991, 7 P P

3 L gad
70819170992, P » 5P» 5P 5P

o ol 3
70819170993, P r 5P 5P

sp2, sy, sp2, spo
70819170994, e S

Question Number : 42 Question Id : 70819121945 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCI

O 10-20atm

Considering the above reaction, the major product among the following is :
Options:

70819170995.



CH,CH,

COCH,CH;
70819170996.
CH,
CH,
70819170997.
CH,CH,CHj,
70819170998.

Question Number : 42 Question Id : 70819121945 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCI
2)Cr,O5, 773K
O 10-20atm
Guoes yfsfafenmr S g Gumr T
Options :
CH,CHj,
70819170995.

70819170996.



COCH,CHj

CH,
CH;

70819170997.

CH,CH,CH,

70819170998.

Question Number : 43 Question Id : 70819121946 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identify A in the given reaction.

HO CH,OH
Options :

OH

70819170999, ©OH CHx

70819171000.



Cl1

OH CH,OH

OH

70819171001, ¢l CHC

Gl CH,(Cl
70819171002. -

Question Number : 43 Question Id : 70819121946 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fest ot yfsfafonr <9 (A) € ugz &9 :

SO
ot
HO CH,OH
Options :
OH
OH CH,Cl

70819170999.



70819171000, ©H CHOH

OH

70819171001, ¢l CIHC
Cl
Cl  CH,CI

70819171002.

Question Number : 44 Question Id : 70819121947 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idc-ntf_t'}-' A in the given chemical reaction.

CH,CH,CHO —_
O: 2 » A (Major Product)
CH)CHECHD Czl |5C}| 1,1 IE'D

A

l] II ACHO

Options :

70819171003.

70819171004.



} C—H
0
70819171005,
CH 2[_1. H 2'[:_1{_](:}H
70819171006. CH,CH,CH,0H

Question Number : 44 Question Id : 70819121947 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o3t ot gpfesa yiSfafonr &9 *A° & U8 a9 .

CH,CH,CHO —
@i — > A (1 Bum)
CH,CH,CHO C;Hs0H, H;O

A

II II ACHO

Options :

70819171003.

O

)
.|_c
L

70819171004. l I

70819171005.



CH,CH,COOH

70819171006. Ry

Question Number : 45 Question Id : 70819121948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identﬂ'}f A in the OHD‘WiI‘lg chemical reaction.

SR i) HCHO, NaOH i
ii) CH3CH,Br, NaH, DMF
CH; iii) HI, A
Options:
I
: _C—OCH,CHj;
70819171007, 11O
i LCH,I
70819171008, 11O
: _CH,OH
70819171009, | 1O

70819171010.



: _CH,OH

CH;0

Question Number : 45 Question Id : 70819121948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J6 Tt grrfesa yfsfafonr &9 ‘A° ©F U=z ©h:

CHO

i) HCHO, NaOH N
ii) CH3CH,Br, NaH, DMF
CH30 iii) HI, A
Options :
1
: .C—OCH,CH,
70819171007, 11O
i _CH,
70819171008, HO
: _CH,OH
70819171009, 11O

CH,OH

Q

CH;0
70819171010.



Question Number : 46 Question Id : 70819121949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11.

List-1 List-11
Cl
Nz_c.l_ L
(a) @'/ LU)} + N, (i) Wurtz reaction
Cl

N, *+Cl—
(b) @’/ : Cu, HCI @ +N, (i) Sandmeyer reaction

() 2CH,CH,C1+2Na ﬂﬂ. C,H; ~ G H; + 2NaCl(iii)  Fittig reaction
(d) 2CH-ClA ONa _ Ether , C;H;~C.H-+2NaCl  (iv) Gatterman reaction
Choose the correct answer from the options given below :

Options:

70819171011. (@) — (i), (b) — (iv), (c) — (i), (d) — (iii)

70819171012. (@) — (i1), (b) — (i), (c) — (iv), (d) — (iii)
70819171014, @) — (iii), (b) —= (iv), (c) — (1), (d) — (ii)

Question Number : 46 Question Id : 70819121949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



et - Lo gat - 1l & ez o
Fet -1 gef - 1

Cl

Ny (1~
(a @/2 &yijmz () zom it

(Wurtz reaction)

Cl

N,*Cl-
(b) @( 27 cuna ©+N2 () Heima yfsfafor

(Sandmeyer reaction)

() 2CH,CH,Cl+2Na _Ether  C H_ - C,H;+2NaCl(ii) fefea yfsfafor
(Fittig reaction)

(d) 2C,H:Cl+2Na __Ether , CH;—C,H. +2NaCl  (iv) dreans yfsfafonr
(Gatterman reaction)
J6 fe3 feamut o8’ Adt €39 € 9= &9
Options :
70819171011. (@) — (i), (b) = (iv), (c) — (i), (d) — (iii)

70819171012. (@) — (ii), (b) — (i), (c) — (iv), (d) — (iii)
70819171013, (@) — (iii), (b) — (1), (¢) — (iv), (d) — (ii)

70819171014, (@) — (i), (b) — (), (¢) — (i), (d) — (i1)

Question Number : 47 Question Id : 70819121950 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Seliwanoff test and Xanthoproteic test are used for the identification of and
respectively.

Options :
70819171015, aldoses, ketoses



70819171016, ketoses, aldoses

70819171017. ketoses, proteins

proteins, ketoses
70819171018.

Question Number : 47 Question Id : 70819121950 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HEI=en2 (Seliwanoff) 2Re »3 FeEUTEME (Xanthoproteic) 2AE & Gutr gH=d
E e UgTE B oS e J

Options :

70819171015. G '

70819171016. i )

70819171017. asic

70819171018.

Question Number : 48 Question Id : 70819121951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Maltch List-1 with List-11.

List-1 List-11
(a) Sucrose (i) P-D-Galactose and B-D-Glucose
(b) Lactose (i) «-D-Glucose and p-D-Fructose
(c) Maltose (iii) o-D-Glucose and o-D-Glucose
Choose the correct answer from the options given below :



Options :
70819171019, @) = (i), (b) — (i), (c) — (iii)

70819171020. (a) — (iii), (b) — (ii), (c) — (i)

70819171021. (@) — (i), (b) — (iii), (c) — (ii)

70819171022, (@) = (iii), (b) — (i), (c) — (ii)

Question Number : 48 Question Id : 70819121951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
got - 1= fiwz gat- Il &% a3 ¢
gt - 1 gdt - 11

(a) Hadw (i) Pp-D-IBacH niE B-D-a%ad
(b) &aed (i) o-D-3BaH w3 B-D-Tdded
(c) H®eH (iii) o-D-IFaH w3 :.E-D-H?;f;'—rf
J5 @t Adt §39 € 9= J9:

Options :

70819171019, (@) = (i), (b) — (i), () — (iii)

70819171020, @ — (i), (b) — (i), (c) — (i)

70819171022, (@) = (i), (b) = (i), (¢) — (ii)

Question Number : 49 Question Id : 70819121952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

2,4-DNP test can be used to identify :
Options :

70819171023, halogens

70819171024, 2ldehyde

70819171025, amine

70819171026, Ccther

Question Number : 49 Question Id : 70819121952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2, 4-31 wis Ut (DNP) = Guwar __ T ugE & 83T 7 I

Options :

70819171023.

70819171024.

70819171025, "HI¢

70819171026.

Question Number : 50 Question Id : 70819121953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A. Phenyl methanamine

B. N,N-Dimethylaniline

C. N-Methyl aniline

[. Benzenamine

Choose the correct order of basic nature of the above amines.
Options :

70819171027. 4> B>C>D

70819171028, D> C>B> A

70819171029, 2> C>B>D

70819171030, P> B>C>A

Question Number : 50 Question Id : 70819121953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. clofes Higemils

B. NN-FEHEE® Wa®ie

C. N-HgEs misls

D. Hadiomis

J6 fo3 feamut fe8" feast Buuas milat © youz Fdt gemi Sa= B3 & 92 a9 |
Options :

70819171027. 4> B>C>D

70819171028, D> C>B> A

70819171029, 2> C>B>D

70819171030, P> B>C>A



Chemistry Section B

SectionId: 7081911003
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911283
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819121954 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The I\IaI\ID3 weighed out to make 50 mL of an aqueous solution containing 70.0 mg Na t
permLis g (Rounded off to the nearest integer)

[Given : Atomic weight in g mol 1_Na:23:N:14:0: 16]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 51 Question Id : 70819121954 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Ha@ At &Eiee NaNO; T 50 mL 7T WS (aqueous solution) f3nd &@aT 92 R =8 A
s (Nat) € Hzar 70.0 fdigrH (mg) yst sidleg o= 3t a7 NaNO, €t 33
ydit| (839 uds nid 3 i)

[uaHEet 39 95 -Na:23; N:14;0:16 (gmol 1)

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819121955 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of octahedral voids per lattice site in a latticeis
nearest integer)

(Rounded off to the

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819121955 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e 79T (lattice) 29 wiaemal 28" (octahedral voids) F =3t y3t 78T & (lattice site)
Je J1 (Y95 g B39 o)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819121956 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A ball weighing 10 g is moving with a velocity of 90 ms L 1f the uncertainty in its velocity
is 5%, then the uncertainty in its positionis __ x10 3 m. (Rounded off to the
nearest integer)

[Given : h=6.63 %103 Js]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819121956 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10 amH (g) T3 & fea afe 90 HieT 3t Fais (ms ) & 3239 o/ ©8 91 J1 Ha@ GREl 9639 T
5 gtret (%) nifamesr (uncertainty) J 3t B ]%H"é(positinn) Smfemasr x10°3
Hieg J=at | (837 udw viw 3 fsd)

[f637 T: h=6.63x10"34Js]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819121957 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The average S—F bond energy in k] mol Lof SF, is
integer)

. (Rounded off to the nearest

|Given : The values of standard enthalpy of formation of SF(g), S(g) and F(g) are - 1100, 275
and 80 k] mol ! respectively.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 54 Question Id : 70819121957 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

SFnE e Mmss S-Femw B Kmol ! s G ig 31 e de v fa
SF (), S(g) ™3 F(g) famrdt mel Aes9s €AH Eam (standard enthalpy of formation) FHETS -
1100, 275 %3 80 k] mol ! 781 (837 uss via I f&y)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 55 Question Id : 70819121958 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

When 12.2 g of benzoic acid is dissolved in 100 g of water, the freezing point of solution was
found to be —0.93°C (K¢ (H,0) =1.86 K kg mol 1Y. The number (n) of benzoic acid molecules
associated (assuming 100% association) is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819121958 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

100 IH (g) Uzt €9 12.2 310H (g) Towried 39 (benzoic acid) UBE 3 f3Wd &13 WS & AW
Ta —0.93°C urfenr famir J (K urat=1.86 K kg mol 1), ¥oerfea Jura € g 98 wignft (n), &
et 31 (100% 39 Vel )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819121959 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The pH of ammonium phosphate solution, if pk,d of phosphoric acid and pkb of ammonium
hydroxide are 5.23 and 4.75 respectively, is _

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819121959 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Hord STHefodl 35 T pk, 5.23 ni3 wiHaImH TEISTIRTENS € pky 4.75 T 3 nHaH SHeE W o
pH _ J=dt

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819121960 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Emf of the following cell at 298 K in V is x> 102,
ZnlZn?* (0.1 M)||Ag™ (0.01 M) Ag
Thevalueof xis . (Rounded off to the nearest integer)

 2.303RT
... =+080V; ="

[Given :EY ,
& /Ag

7

=—076V; L‘; =0.059]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 57 Question Id : 70819121960 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

298 K 3uns €3 75 3 a@ 7% & Emf xx 10 "2V J<af|

ZnZn?* (0.1 M) Ag* (0.01 M) Ag WESxTHE  dearl (B39 uds wa 3 )

: 3 2y -
[Efir 7w I fa: E*"Z 247 ==076V; B 2L 0.059]
I !

=+0.80V;
/Zn Ag™/Ag

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819121961 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the activation energy of a reaction is 80.9 k| mol ! the fraction of molecules at 700 K,
having enough energy to react to form products is e”*. The value of xis
(Rounded off to the nearest integer)

[Use R=8.31] K~ 1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819121961 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
Ha@ fan gArfefea yifatanr & §3uda 8T (activation energy) 80.9 k] mol ™1 3, »3 700 K
IUNE 3 Fria wign o% aTet HT ‘9 o 7 3 Ba v ‘T yfsfafonr oo Gur € Fae 16 &
WH (Fraction) e *JR I x T UG __J=ar (B39 uas wa 3a fim)
[fé37 T : R=831]K 1 mol~]]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819121962 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In mildly alkaline medium, thiosulphate ion is oxidized by MnOy to “A". The oxdation
state of sulphur in “A" s .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819121962 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

IHd T W T8, MnQy ooa BeGR®ee © miaHiods &% ‘A’ geer J| ‘A’ feg Ameg ‘S’
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819121963 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2

The number of stereoisomers possible for [Co(ox),(Br)(NHy)]= " is .

[ox=oxalate]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819121963 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
[Q}{(}}c{)z{ﬁ-r){NH;)]2 Gide ®2t g fEiﬁH HHiara (stereoisomers) gfosst T
[ox=nide]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Mathematics Section A

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 61 Question Id : 70819121964 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the mirror image of the point (1, 3, 5) with respect to the plane 4x -5y +2z=81s (o, B, ¥),

then 5(c+f +v) equals :
Options:

70819171041, 39

70819171042, 41

43
70819171043.

70819171044, *’

Question Number : 61 Question Id : 70819121964 Question Type : MCQ Option Shuffling : Yes

7081911004
5

Online
Mandatory
20

20

80

Yes

1
7081911284

Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

dag T (1, 3, 5) T Toue Yf3fTT AHIB 4y -5y +22=8 € 9183 (q B, y) I 3 5(at+p +y)
g9 9 ;

Options :

70819171041, 39

70819171042, 41

43
70819171043.

70819171044.

Question Number : 62 Question Id : 70819121965 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let A=1{1,223 ..10}and f: A — A be defined as

.Ik-kll if k is odd

Leie ‘i‘ k if k is even
Then the number of possible functions ¢ : A — A such that gof=fis :
Options :

5!

70819171045.

1{]{:
70819171046. 2

55
70819171047.

70819171048, 10°



Question Number : 62 Question Id : 70819121965 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ho B8 A={1,23..,100 3 f:A— A
| [x+1 TR

| k #AIFkfAAZ I

ufggtas 31 #99 gof=f EL g:A—=A Hefe3 25’ < faredt J2an ¢

Sy =

Options :

70819171045, 2"

l{]{:
70819171046. 5

55
70819171047.

70819171048, 10°

Question Number : 63 Question Id : 70819121966 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A, be the area of the region bounded by the curves y=sinx, y=cosx and y-axis in the
first quadrant. Also, let A, be the area of the region bounded by the curves y=sinx, y=cosz,

r-axis and X ~= in the first quadrant. Then,

Options :

Aita sl _
70819171049, 41 - A2=1:2and A+ A, =1

70819171050, ‘M1 F A2 J2 and A; +A,=1

70819171051, 1= A2 and Ayt Ay =2



g — ; . y
70819171052, 2A1=4Az and Aq+ Ax=1+ .2

Question Number : 63 Question Id : 70819121966 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 B8 A, GG y=sinx, iy =cosx w3 UTTE I (first quadrant) e y-lﬁcl T IS 9 ¥

43928 J | A, T3 y=sinx, y=cosx #3 YIS TN € 2-U3 W3 ¥=_ Tn1T" 9I¢ T 439 &

ra | =

43988 J
Options :

70819171049, ~'1° 2 2

70819171050, “*1 - “*2

70819171051. A=A, M3 Aj+A=2

YR A W As+As=14 .5
70819171052, 1 T2 T° T1Th2 V2

Question Number : 64 Question Id : 70819121967 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fO<ab<1 and tan la+ tan ! b = :li, then the value of

' i oL . Sl
R e R e B e e

Options :

70819171053.

70819171054.



d

)
70819171055, 1082

_ i
e

lngf|;-

70819171056. heia

Question Number : 64 Question Id : 70819121967 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 0<a,b<1T tanla+ tan b= T I

azl bz aal h3 a4l hv'4 R
(a + b) I b TTHS I
\ \

2 3

Options:

70819171053.

70819171054.

70819171055.

70819171056. p

Question Number : 65 Question Id : 70819121968 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes



2
I],I'h | Y
X

Let slope of the tangent line to a curve at any point P(x, y) be given by . If the curve

intersects the line x + 2y =4 at x= — 2, then the value of y, for which the point (3, y) lies on
the curve, is :

Options :
%
3
70819171057.
18
70819171058. i
18

70819171059. 35

18

70819171060.

Question Number : 65 Question Id : 70819121968 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- - o s ” " .'2 & - -
Vis 55 239 © iz P, 4) I 0a0 3 St w85 (slope) LY 7| a9 299, T x4 2y=4
X

da=-2 WA T INIME 3y TR, Ty TvB:

Options :
%
3
70819171057.
18
70819171058. i
18

70819171059. 35



18

1
70819171060.

Question Number : 66 Question Id : 70819121969 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

] 2 .
The sum of the series 3 2 b Lo, is equal to :
r::l {211 + 1)!
Options :
ﬂe [ Ee_l 10
70819171061, °
i PR L LT
70819171062, ° 5
i—l | l—: i
70819171063.
a4 19

70819171064. 9 8

Question Number : 66 Question Id : 70819121969 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o 2

ity n lﬁnll[]?i‘ﬁs’ﬁ : fr:

o= @n+ 1)

Options :

70819171061.



T 2 s
70819171062, ° 8
%m l—: s [
70819171063.
ﬂe Ee_l 10

70819171064, 8 8

Question Number : 67 Question Id : 70819121970 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

Let f(x) = Iﬂt f()dt + e* be a differentiable function for all x € R. Then f(x) equals :
0

Options :

70819171065. ~

70819171066.

70819171067.

70819171068. ~

Question Number : 67 Question Id : 70819121970 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X
6 B8 f(x) = [e' f(dt+e™ 7 x e R B, fEadfimes 386 71 32 f(x) 599 J:
0

Options :



70819171065. ~
o(e¥=1)
70819171066.
{_-.I
70819171067. © 1
2% _1
70819171068,

Question Number : 68 Question Id : 70819121971 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. & .x L ] € 3
Let f(x) be a differentiable functionat x =a with f'(a)=2 and f(a) =4. Then lim w
5 X—a 3 C

equals :
Options :
'j.
70819171069, 22 4
. 7,
70819171070, = @
Ya +
70819171071, 22 14
at+4d
70819171072.

Question Number : 68 Question Id : 70819121971 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



N5 B8 x=a 93 f(x) Ie1 f3e3fimas 285 J, 378 f'(a)=2 #3 f(a)=4 32 lim Xf(a) — af(x)

I—a X—4d

HJHT J
Options :
3
70819171069, 2@ 4
. 2
70819171070, * 22
70819171071, 22 T4
a-+4
70819171072.

Question Number : 69 Question Id : 70819121972 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| X -x-2

Let f(x)=sin"!x and &(x) = —

————— If ¢(2)= lim x), then the domain of tt
N 8(2) xng{J en the domain of the

function fog is :

Options :
: : :
{ 0, 2] ] |: ?.- s |
70819171073. =
. . p
{ 30, 2] ) |: %r e |
70819171074. s 4
(—o, —1ju |2, x)
70819171075.

(-, —2] U[-1, »)
70819171076.



Question Number : 69 Question Id : 70819121972 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| 2

v : : r —x-2 < - b3 5
He B9 f(x)=sin"lx w3 g(x)= NS Had g(2) = lim g(x) I F BB fog Y3 T
A 2y X2 :
Options :
( X, 2] L) \‘ ;r I\'|
70819171073. =
' i )
(- -2 U -3, ]
70819171074. s
(-, ~1 U R, =)
70819171075.
(-, ~2 U[-1, =)
70819171076.

Question Number : 70 Question Id : 70819121973 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7

Let A(1, 4) and B(1, —5) be two points. Let P be a point on the circle (x 174 (y—1)=1
such that (PA)? + (PB)? have maximum value, then the points, P, A and B lie on

Options :

70819171077, 2" cllipse

70819171078, & Myperbola

70819171079, @ parabola

70819171080, @ straight line



Question Number : 70 Question Id : 70819121973 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e B9 A(L,4) w3 B(1, -5) ST e w3 e P, 999 (k- 12+ (y-1)2=1 83 fem 37 I fa
(PA)? + (PB)* o #ifTasH H& J | 3¢ e P, A »3 B 34 ;
Options :

=
70819171077, 59 FEfEW SUs

20819171078, [B% TENTEET QT

70819171079, &8 USTHET 9UT

70819171080. fest T Fer Gu

Question Number : 71 Question Id : 70819121974 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— —

If vectors ay =xi — j + k and ay = i +yj + zk arecollinear, then a possible unit vector

parallel to the vector xi 4 y j' 2k s :

Options :

A B

—= -tk
70819171081. ‘E

— |1 ik
70819171082. ﬁ

70819171083, V2



70819171084, V2

Question Number : 71 Question Id : 70819121974 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FECRCC RG] a_I =x? ; I L w3 a_; = z | '\l,f.}. I zA AU I 32 999 1{ | 1;; | EL 2
AHT39 AaTfes faaret 2aeq J

Options:

{ i k)

51 =

70819171081, ¥

L
70819171082, ¥
70819171083, V3

2 (i-j)
70819171084, V<

Question Number : 72 Question Id : 70819121975 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

LetF,(A, B,C) = (AA~B) v [~C A (Av B)]v ~Aand F,(A, B) = (Av B) v (B— ~A) be two
logical expressions. Then :

Options :
70819171085. F, and F, both are tautologies



70819171086, l"'l is a tautology but Fz is not a tautology

70819171087. Fl is not a tautology but F2 is a tautology

Both F; and F, are not tautologies
70819171088. e

Question Number : 72 Question Id : 70819121975 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ha B8 Fi(A,B,Q)=(AA~B)v[CA(AvB)v~And Fy(A B)=(AvB)v(B—~A) ¢

IJIIIYT AHIITET (expressions) T3 3¢ :

Options :
F, »3 F, ©< UsdEas! (tautologies) JI5 |

70819171085.

20819171086, F1 Y983t (tautology) I US3 F, UsBaST (tautology) &dt T |

| UBS8aST (tautology) &1 I US3 F, Uss8a=T (tautology) J |

70819171087.

70819171088 o= F, ] F5 Lﬁﬁ@aﬁ' (tautologies) Sdl TS |

Question Number : 73 Question Id : 70819121976 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A seven digit number is formed using digits 3, 3, 4, 4, 4, 5, 5. The probability, that number

so formed is divisible by 2, is :

Options :

M]lu.

70819171089.



1E-9

70819171090.
1
70819171091, 7
4
70819171092,

Question Number : 73 Question Id : 70819121976 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3,3,4,4,4,5,5 wd" § 793 d A3-wial Ry 527t 6T IfeR 397 2 &S 91 It Wi 925 €

i ‘3 &0 :—.I- :
Options :

‘-u..‘}l'__g-

70819171089.

3| o

70819171090.

‘-H\]|._-..

70819171091.

‘-HJ|,4-_..'

70819171092.

Question Number : 74 Question Id : 70819121977 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the following system of equations :
x+2y—3z=a
2x +6y—11z=Db
x—2y+7z=c,
where a, b and c are real constants. Then the system of equations :
Options:
70819171093, has a unique solution for all a, b and c

20819171094. has a unique solution when 5a=2b+c¢

70819171095. has infinite number of solutions when 5a=2b+ ¢

70819171096. has no solution for all a, band ¢

Question Number : 74 Question Id : 70819121977 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mo BF ofua mlags’ &t y=iat
x+2y—3z=a
2x +6y—11z=
x—2y+7z=c,

a, b w3 ¢ THfEFT wES T5 | 32 AHEIET =1 e =t

Options :

70819171093. % feBus T8 T AT a, b m ¢ BT |

20819171094, 08 [€B4E I& T 7€ 5a=2b+c

=% T - = i
70819171095, XS MHIHI I8 I #< 5a=2b+c

70819171096. % 99 I8 91 J, A9 a, b w3 ¢ B |



Question Number : 75 Question Id : 70819121978 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The triangle of maximum area that can be inscribed in a given circle of radius r’ is :
Options:

70819171097, An isosceles h‘ia_nglc- with base c-qual to 2r.

70819171098. A right a_nglc- h‘ia_nglc- having two of its sides of Ic-ngfh 2r and r.

"
An equﬂatr_-ral ’r_riarngle of hr_-ight _—;
70819171099, :

An equilateral triangle having each of its side of length ﬁ r.
70819171100.

Question Number : 75 Question Id : 70819121978 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘v Wil fanmA T8 Jag 29 wiftazy 4399 8t gt 77 Aas ot f3as T

Options :

20819171097, 2F ™S T € mHEgHT 3o |

T AHIS 33 fan S @ g St BSOS 2r w3 r G
20819171098, 128 AHART 3 T 2 g T BETE 2r wid r J |

2r
70819171099, 3

oy a1 o
S9TEl TEt AHgHT f3ae |

20819171100. foa wHaHl fzdz, fan St gga gar St savet 3 T

Question Number : 76 Question Id : 70819121979 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let L be a line obtained from the intersection of two planes x+2y+z=6 and y+2z=4. If
point P(a, B, v) is the foot of perpendicular from (3, 2, 1) on L, then the value of 21(c+ + )
equals :

Options :

68
70819171101.

(51

70819171102, 102

70819171103, 136

70819171104.

Question Number : 76 Question Id : 70819121979 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

?—T??E@%!HTL,?‘:TH.-;E'IIZE.- | z:ﬁ}ar?y | Zz=4§3fE'F>ZE|F_JffﬂEr T T;'E!Effffg(fi,zrl] I
L 63 He I B9 & w7 P, B,7) T 3P 2A(atp+y) TR I:

Options :
68

70819171101.
70819171102, 102

70819171103, 136

70819171104.

Question Number : 77 Question Id : 70819121980 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let f: R — R be defined as

—
5 X _—
'Esm( —| ifx<-—1
| 2

T T e

ax? +x+b, if-1=x=1
| sin(mx), iix >1

If f(x) is continuous on R, then a + b equals :

Options:

70819171105, 2
70819171106, |
70819171107, '
70819171108, 2

Question Number : 77 Question Id : 70819121980 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1% B9 f: R — R J5 fou 357 ufegma= J

f h!

'25inl i , Adg x < -1
J: e

.."r{lj_ --ﬂz +x + b|, fad -1=x=1
| sin(wx), "ad x> 1

H493 f(x), RE G2 B3I I3 a+buTHI J ;
Options :

70819171105, 2

70819171106.



70819171107, ©

70819171108, °

Question Number : 78 Question Id : 70819121981 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the locus of the mid-point of the line segment from the point (3, 2) to a point on the circle,
12 yzz 1 is a circle of radius r, then r is equal to :

Options :
1
70819171109, %
1
70819171110, 2
1
?
70819171111, <
1
70819171112.

Question Number : 78 Question Id : 70819121981 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
799 99 +2 +1P =17 QU7 fan fig »3 fig (3, 2) 3 Tur 3 3 Ho-fiewr & Ay wioo-fenm 1
TG I T I I ;
Options :
1
70819171109, *



'__,Jl;_.

70819171110.
>
=
70819171111, =
1
70819171112.

Question Number : 79 Question Id : 70819121982 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A natural number has prime factorization given by n=2"3%", where y and z are such that

y+z=>and y 14771= g Yy > z. Then the number of odd divisors of n, including 1, is :
Options :
6
70819171113.
70819171114. =
70819171115, 12
70819171116, %

Question Number : 79 Question Id : 70819121982 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

foa yfgsa A 38 W™ 5 43 n=257 3, f78 y 3 z fem 397 75 fa y+2=5 »3

5 o o i T e . o fal 2]
y 4z =g,y:~z;€1§maﬁw n 279 JEaus o farest

Options :



70819171113.

70819171114. =

70819171115, °~

70819171116, %

Question Number : 80 Question Id : 70819121983 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X

1 t
For x >0, if f(x)= J‘h

J(1+Y)

; o
l".

dt, then f(e) f| — | is equal to
e/

Options :

70819171117, Y

70819171118.

K=

70819171119.

70819171120.

Question Number : 80 Question Id : 70819121983 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- “log .t
x>0, B, 7499 f(x) = _[ Be
1+

: 2
dt, 3T f(e) If|éj| g9HT J



Options :

70819171117,

70819171118.

M| =

70819171119.

70819171120.
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Section Number :
Section type :
Mandatory or Optional :

Number of Questions :
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Question Shuffling Allowed :

7081911005
6

Online
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7081911285
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Question Number : 81 Question Id : 70819121984 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1

- _ [ym=1gq _an-1 3. ¢ gy fF TR
€I, ,= _[1’” (1-x)"" dx, form,n = 1,and {{ PR

0
equals

=aly n,ae R, thena



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819121984 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 11.111—1 | Jt.n—l

1_:"33 Im. = J.Im_l(l )L':l”_l dx: m,n = 1. Eﬁ. }'f%'."' I— dr=a Im. n,ae R

“ ” {1 | l_j]]]"’!l

gel, o T EIHIJ
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819121985 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let z be those complex numbers which satisfy

745/ <4 and 2(1 +i) +7(1 —i) = - 10,i = 1.

If the maximum value of z+12 is .tl' | INE, then the value of (a+p)is .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819121985 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
B 86 2, 45 < 4 w3 21 +1)+3(1-i)> -10,i= "1 § A3Ae ageh wd Himfs
At 5 | 769 |z +1/2 2 wifgasu Hﬁw FRN2, T T () THE T
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819121986 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the normals at all the points on a given curve pass through a fixed point (a, b). If the

curve passes through (3, —3) and (4, Z\E], and given that 'a ~-2/2b=3 then
(a®+b*+ab)isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819121986 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

W5 B8 far 239 © Ariowi fenf 83 wisdegus fan wiwa fig (a, lu)ﬁ?@fﬁ:?rTTl g 739
fifg (3, -3) 3 e (4, - 242), T BUeT T w3 a— 22 b=3, T (@+b2+ab) e
qaEg J |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819121987 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let a be an integer such that all the real roots of the polynomial
2x7 + 504 + 102 + 1022 + 10x + 10 lie in the interval (a, a+1).

Then, |a|is equal to ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819121987 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

15 B8 yos Aftm a Bet ggUeEt 20° + 504 +102% + 1022+ 10x + 10 € F'9 THIRA HS W3S
(@,at+t))f@TmI3E|al _ TEEI

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819121988 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
18 18

Let X, X, ..., X,q be eighteen observations such that l_(}'(E a) = 36 and l(}(: [:‘;)2 =90,
i=1 i=1

where « and [} are distinct real numbers. If the standard deviation of these observationsis 1,
then the value of |a — B/ 15 _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819121988 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- : 18 B L

"o B9 Xy Xy oey Xjg 18 YUE T& AT l(}(i a) =36 w3 l{}(i [3)2 =90, g andp
i=1 i=1

95 {95 awafen AfmreT 5 | 79 foga oa o 1o (988 1 I 38 o — B/ T HE

T §IHT J |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121989 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10 0 | 100
If thematrix A= 0 2 0 |satisfies the equation A*’ + «A"™ +BA={0 4 0| forsome
a0 -1 00 1

real numbers « and 3, then p~« isequal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121989 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10 0

Aa9 Afeam A=[0 2 0| g5 IHIfe@ Afw@ o W3 g BE AHlEEs
30 -1

100

AD 4 AY +BA= {0 4 0| FHIFC TR T T p-a
00 1

8ol

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 87 Question Id : 70819121990 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a and B be two real numbers such that a«+p=1 and af=-1. Letp =(a)"+ ()",

A y 9
Py-1=11and p, ;=29 for some integer n = 1. Then, the value of p, 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819121990 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
i B o w3 p 2 T3 A I8 Fefd ot B=1%3 of = -1 H5 B8 fai uss Hfimr
nz1% p =@"+@)" p,1=11 "3 p, =29 B'E'lpl::' THE T
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819121991 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of 4-digit numbers whose greatest common divisor with 18 is 3, is



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819121991 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
98 T9- nioll AP fiia @ 18 © '8 HI3H AW 9939 (HMA.E) 39, J<amf |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819121992 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the arithmetic mean and geometric mean of the pt" and g terms of the sequence
16, 8, —4, 2, ... satisfy the equation 4x2-9x+5=0, then prisequalia. - . .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 89 Question Id : 70819121992 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

wEgH ~16, 8, —4,2, ... ¥ p? W3 g2 YT ¥ »afdfed Hy w3 fawrfedt Ho, mitass
492 91‘|5=D§ﬁ?ﬂ?33?2|’53’+p R T YT J |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819121993 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let L be a common tangent line to the curves 4x* +9>=36 and (2x)*+ (2y)>=31. Then the
square of the slope of the lineLis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819121993 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

799 L, T3 a2+ Wy2=36 #3 (20)2 + (2y)2=31 =t ASt WIgH " J T " L 71 wwE @I
_d

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001



